%

i
& 1]1"

1T
S

Y r/‘
i/

/-/~/ﬂ /J//,//_, 7
1Y s Y9N

et o -

=5

IXE 4 #8I - SRTVESRBEEEIS (201)
WEHXH FEI| - BEEFLESX
IEEm BT REREFAT, JIET R
&2 W HrER

wm R $=1:10000

HEES 01705




.y )

il

3
I
al
& ||
* (B
5 |3 |2

A
A

mf | mf | R

%

185#IT U HR—IL

2 54T UR—)L

A1B#IT -

BERNOFET K-

T oR—IARYT

Bl ET U HR—IL

255K ([EIR)

1[75elelolele

2 #EK B (RENR)

I x4

B - REFLBIRSEEERIE (20 1)

kS

FEN-ERFLEHSXE

THER

BIUT RERFE A

£ b FHEFEE (1)
wm R $=1:500
HEES 02,705




| =
—

A

=\ 1L

oo T
ol 44,10 & 1] Tol L\
y ‘ Y
o \
I NIT_VI6) 2430

3.5 e | A ' = = O o Vi
= NN N o A ==—4 . e % v K
9 =] o A i - 950 = S 1o =~ == : - g
%!!!‘w‘ g\\ =~ { 5 ! o I, A — - o e .. 86 ) y
3 sl = o /s e :\: % Ty A R,( g
P N % 78979 ii;'i"‘"n » =T AT — L R 2 ¥q:
? e i X e Y R —— 0 _
° \ ol = o
b

* (B
EIEIE AR

A
O=s—— A

& |3

o} | | R

1SHI< ohR—)L

25HIT R —IL

A1SHMIT U R—IL

BER/NOZEIUR—IL

T k=LKL T

BlIEMET L R—IL

2A$E55k it (ER)

[T13elelolelol*

25K Y (RER)

TR 7B
L=91. 3m, EEAZFHIEEAS (13)

IE 45 HEJI - REFLESRHEEEIF (201)

| MESES | ) EEHLESE
T IEEm gL IEET HhR

s W FHETFERE(2)

R $=1:500

IEES 03 / 05




/ (&) L=8.pm
(HE) KE BEBEHEAS(3) A=20m

| ] %
| ) 3
iy /
) s ~ym D v F A
2B A2 | %
E _E —~— :t" 20 Yra L -39, 14
Ay %A N -5 .ﬁ S e | ,"
9 0.2 = Y/ *MEAS (20) "‘ ‘ ‘ ‘ |
I _ ) ~t/§ ﬂgI #u_ :
f j i SF R ! e s
= o [l . LR B B 0)
——5F R oy £ op sao i N 19 nf 6. 1m
T T \ 2.0 ’ 1
A o = 300 39,6 H
— = 3.6 | po. g3
"mlv = T > : Q.M\SW £ Y wo f) 1" T
38,96 - — P o .1 1 3910
. i T T 39,05 "f, C’Eﬂf s e
N ) w ' ’7 o 76! : = : = qu‘f- ?@ﬁ .12 ks /‘ g g
z W i . ) b — o
3Py 8 5 3865 - v = 07— 3 ——57 .- 5 ZTD . i %m
° $§ wsi || S B S = = — = T .40 e it -30.79
& 1 5‘ ﬁlﬁ g [~ bl 391 o 1
07:; f jf i -39.08 137. g9 m
| z ] : " 2T #B

| i

o]
1o N D HEMER T |
[] : 1 I [T [ )

=139. 4

R

i |

HOE
LS
BE

15 oR—IL
2847 o R—IL

o=—
O<77
Oé —
O
©)
o 39.8 N || D A 1B k)
®
®
4©;
pra—
pa—

i

A
A

g | | mf

]

BERNOER R—)L
R k=R T

BlIERET R
BB (EIR)

65K (REUR)

IE % 8| - EEFLESEAEEBIF (T0 1)
| | | | MEHRE | HEA)ERHFLES R
3 TEER | BT JKET R
| | | % % SHEFER(3)
& R $=1:500
| | IEES |04 / 05




7R T 7L b (FE)
1~9TX

SEEIET SHEEET (208)
(EEARTE)
Wi W2
EAIED IEZE
y i
=3
1000000) an
8 dapests pessess g
- A A ™
889806 AT
TR (HRHE)

Viﬂ TEEE HEHA)
®E BAEBHNEFTZX2203) t=30
BE J5vivS2 (RC-40) t=160

TEEEEIE (R H#RC-40) (X, L&k

RE BEFRETAIL(3) t= 40
Bl YS5viwSy (RE-40) t=150

HEEDEBYET S,

2 #F# B X

T AT 7L NG (RE)

(BRELEFIMESFEEGR) O &
10X, NI

T A7)l R (858

B T EEXt I d
(EEmBEIHE) |
f 7
T N7 e
ZN\ 1
I 4
b (= |
g ]
S
| [
RE BHET R (20) t= 50 Vf
£E BHEFRIL (20) ASBELE t= 50
XE EAEHETZIL Q0 t= 50
B BABHETRIL(0) t= 50
B 55vivSy R-40) t=240 L BEMMETA 220
BN IR (1-30) _t=100
TEEE 55y v5y Re-4D) t=140

UFiE 150

(RELEFMEREESR) SE

10X, 12T

T AT 7IL L (858

WEEAT HEMIBT  EIAIE 3,000
(ERHARIH) }
| Wi [ W3
\ AR 7
= % 2 =2
1 TR :
200
RREZEIE (482 HPE)
| TEEE (HEHA)
®E BEFHMETZI(03) t=30 \/ﬁ ®E BEFHMETZ03) t=30
Bz Y5yl w52 (RC-40) t=120 B 259 vS2 (RC-40) t=120

£kt 300

0.
I
8 _Bl 140

3
!
BELZIL

™ ERRE =) o
S I p 4 = I
-
S
T 8

1oo| 160 |100
360

FEE

410

300

{8lEE A=
410 324

»—& T T
T———T

\ \ —

8 I I g
| I —
) |

‘5 300 55

(REDLEFIEREESR) HiE (F’AN)

12T

SHEEAT HHEIEMEIAT |88 3,000
[CELE D) }
Wi W2 w3
JRAIED CogEm '
& / Z
< ] E
2 =
TRETE GHRHR
TREE (HEHE)
*RE BAEFHEFTA223) t=30 EdE] BEBMEF7RL(13) t=50
B 5y vS (RC-40) t=260 L EEREE HEAFE (M-30) =100
TEBE 75 v vo> RC-40) t=140

BEEEFHT 1IXK~6IK

I3 BT TIR~12IKX
IE4 HAN - REHAELRHEERTE (201)
B FHEI-GERFNESX
IEEmR BT BERITET. JIIEET P
EZI SLEIER. UFEHIAR
e R S=1:10
= 5/5




